i Recurring Decimals to Fractions
é\REVISE THIS
L

1 Express 0.5 as a fraction in its simplest form.
You must show all your working.

[Ox= S-.-68 S6§...
L= (0 SSSS...
Q2 = 5

L= 2
9

S
>

(Total for Question 1 is 2 marks)

2 Express 0.71 asa fraction in its simplest form.
You must show all your working.

\00)(;7|-7 7\ 7] |
X=0-7 17177 1.
C‘%L:q—\
x= T\
aq

#1
14

(Total for Question 2 is 2 marks)
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3 Express 0.45 as a fraction in its simplest form
You must show all your working.

(00x = &4 S-4S

x= 0O &S
192 - 4S

X = ‘\—S 4SS
°]°\ Q19

(Total for Question 3 is 3 marks)
4  EXpress 0.214 asa fraction in its simplest form

You must show all your working

1000 = 21%-21% 214 214

L= O2LeLY%214 ..
199x = 214

214
AT

(Total for Question 4 is 3 marks)

5 Express 0.324 as a fraction in its simplest form
You must show all your working

1000x = 224 - 22 4 324 22Y...
x = O0.324 2203w,
AA9 = 32Y
x> 324 2 - 36 %
Qaa 999 ‘b F?

2
=
, (Total for Question 5 is 3 marks)
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6 Express 0.53 as a fraction in its simplest form.
You must show all your working.

0Dx=53%3-23 3 173
x= 0-S 27232
O\OJO:q'g g’

~ 43
x=

(Total for Question 6 is 3 marks)

7 Express 0.124 as a fraction in its simplest form.
You must show all your working.

|O00x = 124 Ltltl&% b 4 b
— 100x= 12444 4% G Gl
x> 0.1 44l .

100x = \12 _II/L.;_?-?/

~ I A
XL= A0 235 R
400 s

(Total for Question 7 is 3 marks)

8 Express 0.423 as a fraction in its simplest form.
You must show all your working.

000x=423-232 L2 32..

— Dx= 4 .2320L V2 V2.

x= O- 23 23 27
190 = 419

- 44
xA =
M0 4

' (Total for Question 8 is 3 marks)
3
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9 Express 0.038 as a fraction in its simplest form.
You must show all your working.

(OD0x.=238- 2 8 2 ¥ 3973 ..

- Ox= 0- 23 33 ¢ 3%873..

x= O - 021¢ 3% 18%8..
A40x= Y 28

1
- 33 0 S
**310 1 S %)

(Total for Question 9 is 3 marks)

10 Express 3.62 as a fraction in its simplest form.
You must show all your working.

100x=262 -6 L 672 67 ..
x> 1-62 062 6 2 ...
A9 = 1S9
x> 354
qa 1S4
_
a9

(Total for Question 10 is 3 marks)

11 Express 0.3161 asa fraction in its simplest form.
You must show all your working.

(0000x =316|- \6 111G \GII ...
— Ox= 16161 161)...
x= 0O -3A\l6V16)V\6\ ..

9Q90x= 2\S8 UsY - 1579
. 3158 Zaaa  444aS
X> a0 4917 WA

1S32

L A0
, (Total for Question 11 is 3 marks)
4
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12 Work out 0.68 — 0.27
You must show all your working.
Give your answer as a fraction in its simplest form.

1002=63-82Q 28 .. 100y=11-"77777 ...

I0x1= 6 ¥88%8 ... Dy= L1770 .

x=0-68393%... y=0-21711...
x,'-@ ;2$
%5 330

—

62 _ 1S . 3%
q0 90 Q0

£S5
qO

(Total for Question 12 is 5 marks)
13 Work out 0.53 x 0.16

You must show all your working.
Give your answer as a fraction in its simplest form.

0015223 222..  |00s=6 66 666...
10x=5-313 233 . Du= 1 66666 -

x=0-S232]... y=0-16666 ...
clOJL 48 %3:\5

(\*g 129\'* :\S /l,
x = qO q,/s 3/ \‘j A

,2{ :/
Yb’\ &S

Y

(Total for Question 13 is 5 marks)
5
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14 Work out 0.08 = 3.63
You must show all your working.
Give your answer as a fraction in its simplest form.

I002-8-83%Q 88 ..  (00Dy=3%2626262..
I0x=0- ¥88%8 ... 1Dy =636 26736
x=0-08988%... - y= 3-636363...
W = 8 994 = 160
-2 _ 160
X -t
40 T

|
¥ L
% BHO\¢ 40 "

1O —

4SO

(Total for Question 14 is 5 marks)

2
15 Work out (0.296)3

You must show all your working.
Give your answer as a fraction in its simplest form.

1000x. =2d6- 296 2960290 ...
r = 0296296296 ...
199x = 296
249 > )
x = 2XLX lx%{, %/\gi(éy
™ 3
l

x=_%¥_

Tx Ly 1x’y¥

_~

]

(Total for Question 15 is 5 marks)
6
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